2009 11

:2009 - 09 - 05

710025)

:1006 - 0707(2009) 11 - 0009 - 03

m(i=12, ,m sum.
w(j=1,2, ,n) j ( ).

g(i=1,2, ,m;j=1,2, ,n)

i j
X=(Xij)m><n
+ Xjj j i
i
i :
B =1- (1- &) D
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2.1

Lc=mXxn.

X=(x11, ,Xt,n, %1, X, n,

n )
y Xm, 1, ,Xm,n)
Zj;Xij =m,
©)
(roulette whedl)

X
X=(x1,%, ,Xmxn).
2.2
i
2.3
2.4
(meting pool)
2.5 [7-9
LA
1)
2) Lc,
[0,Lc- 1]
3 p(0sp<l)

, 1
Xo= Oty oxent o Xidts et Xmdts Xmond)
2
Xo=(xa®, Xt Xiat X Xmats X))
[1,m] i,
ixn+l (i+1) xn . 2
1
X' = Oaaty oxent xidd Xk, o Xmat,  Xmn)
2
X = (xa1®, Xt %at,  Xints o Xmat. o Xmond)
2.6
i )
i+1 . i ,
i-1
2.7
, T ,
T, T 100 1000
3
2 , 4
1 6 , 2
12 4

w1:0.3,w2 :O.2,w3:0.1,w420.4.

3.1
,m=2,m=16,m =12, n=4,w; ={0. 3,
0.2,0.1,0.4}.
1.
1

1 2 3 4
(%) 0.3 0.2 01 0.4
1 0.4 02 05 0.1
8 2 0.3 0.2 05 0.2

4 2

nan:j:zlw,-[l- a- e %i]=1- 0.3x0.6™1x
0.7%21-0.2%x0.8%.2x0.8%22- 0.1x0.5%.3 x
0.5%23- 0.4%x0.9%.4 x0. 824 (5
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4

B 3.3
iZ x = 10 ® ,
4 3.4
3 =12 ©
xj 20,(i =1,2;j =1,2,4
3.2 pc =0.8; pm = 0. 05;
, pop=Lcx4=32; T=100
X=(x11, Xtn: %1, +X.n, 2 Xmi, o Xmn). 3.5
pop :pop=Lcx4 VC++ '
2
X11 X12 X13 X14 Xo1 X2 Xz X4 max F
1 6 6 2 2 0 3 1 8 0.892 30
2 6 6 3 1 0 2 1 9 0.897 88
3 6 6 4 0 1 1 0 10 0.899 06
4 6 6 3 1 0 1 1 10 0.899 15
5 6 8 2 0 0 1 1 10 0.903 71
6 8 2 0 0 1 1 10 0.903 71
100 6 8 2 0 0 1 1 10 0.90371
2 , 5 :X={6,8,2,0,0,1,1, ,2005.
10} , :max F =0.903 71. , [2] [J31.
. 8 ,2004 ,29(2) :43 - 45.
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